
SIR = Standardized Infection Ratio

If it’s LOWER than 1, we 

have FEWER infections 

than the national average.

[Current Year] AR-BSI SIR: _________

[PrevYr] AR-BSI SIR _________ # of infections _________

Access Related Blood Stream Infection  (AR-BSI)

Q1 Q2 Q3 Q4

If the number is HIGHER 

than 1, we have MORE 

infections than we should.


	Slide 1

	page0_field1: 
	page0_field2: 
	page0_field3: 
	page0_field4: 
	page0_field5: 
	page0_field6: 
	page0_field7: 
	page0_field8: 
	page0_field9: 
	page0_field10: 
	page0_field11: 
	Text_1: 


